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WCGacolours (9 steps) with_*(Ch) pg in L*ABIND-colour space

WCGacolours (9 steps) withL*(Ch) g in L*ABIND-colour space

WCGacolours (9 steps) with_*(Ch) pg in L*ABIND-colour space

WCGacolours (9 steps) with.*(Ch) g in L*ABIND-colour space

Tristimulus values of black and whitéy=0,0, Y{4=88,6

CIELAB ligthness L*

white W
L*(Ch) agw=95, 0, 0 L100
rgb*y=1,1,1 < 9 steps
N

L¥*(Ch) og g=55, 93,14

| ~: >
| rgb*g=1, 0, 0
9 steps red R
black N
L*(Ch) ag =0, 0, 0
rgb*\=0,0,0 ¢ 9 steps 100
0 L*ABJND-chromatic value Gg

Tristimulus values of black and whitég=0,0, Y,,=88,6

CIELAB ligthness L*

white W
L*(Ch) ag w=95., 0, o&lOO 9 steps
rgb*w=1,1,1 Tt P yellow Y
| / rgb*y=1,1,0
L*(Ch =93, 85,107
9 steps (Ch)agy
black N

L¥(Ch) g =0, 0, 0 9 steps 100
rgh*\=0, 0, 0 0

0 L*ABJND-chromatic value Gg

Tristimulus values of black and whitéy=0,0, Y{4=88,6
Tristimulus values of black and whitéy,=2,5, Yyn=88,6, Yys=88,6.

CIELAB ligthness L*

white Wy,
L*(Ch) a.wn=95, 0, Q100
rgb*wn=1, 1, 1 9 steps L*(Ch) ag,r=55, 93,14
? L*(Ch) o,rn=57, 90,14
Y rgb*gn=1, 0, 0
9 steps red R,
black Np
L*(Ch) ag nn=18, 0, O
1gb*=0,0,0 o 10
0 L*ABJND-chromatic value Gyg

Tristimulus values of black and whitég=0,0, Y,=88,6
Tristimulus values of black and whité,=2,5 Yiwn=88,6, ¥ya=88,6.

CIELAB ligthness L*

white Wy,
L*(Ch) o wn=95, 0, Q100 ¢ ¢ ps
robtwn=1. 1, 1 (6] 3_3—?-‘?} > yellow Y,
b
$u ©ooeo rgb*yn=1, 1, 0
osteps ¢ & ©%® o0 L*(Ch) ag,yn=93, 82,107
¥ L*(Ch) ag,y=93, 85,107
black Ny

L*(Ch) a,nn=18, 0, O
rgb*\n=0, 0, 0 0

0 L*ABJND-chromatic value Gg

AEI10-3N

AEI10-4N

AEI11-3N

AEI11-4N

WCGacolours (9 steps) with_*(Ch) pg in L*ABIND-colour space

WCGacolours (9 steps) withL*(Ch) g in L*ABIND-colour space

WCGacolours (9 steps) with_*(Ch) pg in L*ABIND-colour space

WCGacolours (9 steps) withL*(Ch) g in L*ABIND-colour space

Tristimulus values of black and whitéy=0,0, Y{4=88,6

CIELAB ligthness L*

white W
=t 100
L*(Ch) ag.w=95. 0, 0& 9 steps
rgb*y=1,1,1 e ——
: °
® e reen G
9 steps ® o o rgl?*G:O 1.0
P .1,
L*(Ch) g =81, 130153
black N ° ABG

L*(Ch) agn=0, 0, 0
rgb*\=0, 0, 0 0

9 steps
P 100

0 L*ABJIND-chromatic value Gg

Tristimulus values of black and whitég=0,0, Y,y=88,6

CIELAB ligthness L*

white W
= 100
L*l(j(*:h)AlB,\iv—l%, 0, 0& 9 steps
rgb*y=1, 1, T —t—a—
‘ e
cyan C
9 steps rgb*c=0, 1, 1
L*(Ch) ap =85, 95,193
black N

L*(Ch) agn=0, 0, 0
rgh*\=0, 0, 0 0

0 L*ABJIND-chromatic value Gg

Tristimulus values of black and whitéy=0,0, Y{4=88,6
Tristimulus values of black and whitéy,=2,5 Yyn=88,6, ¥y+=88,6.

CIELAB ligthness L*

white Wy,
L(Ch) agwn=95. 0. 9 steps
rgb*ywn=1,1, 1 s
green G,
9 steps Gorra 1 0
L*(Ch) ap,Gn=82, 126,153
black N L*(Ch) ag,c=81, 130153

L*(Ch) agnn=18, 0, O
rgb*yn=0, 0, 0 0

9 steps
P 100

0 L*ABJIND-chromatic value Gg

Tristimulus values of black and whitég=0,0, Y,y=88,6
Tristimulus values of black and whitégyn,=2,5, Ywn=88,6, Xvs=88,6.

CIELAB ligthness L*

white W,
L*(Ch) o wn=95. 0, %ﬁgﬁi 9 steps
rgb*wn=1, 1, 1 St

oo
cyan G,
9 steps rgb*cy=0, 1, 1
L*(Ch) ag,cn=85, 92,193
black N L*(Ch) og,c=85, 95,193

L*(Ch) ag un=18, 0, O

rgb*yn=0,0,0 ¢ 100

0 L*ABJIND-chromatic value Gg

AEI10-5N

AEI10-6N

AEI11-5N

AEIL1-6N

WCGacolours (9 steps) with.*(Ch) pg in L*ABIJND-colour space

WCGacolours (9 steps) with.*(Ch) g in L*ABIND-colour space

WCGacolours (9 steps) with.*(Ch) pg in L*ABIND-colour space

WCGacolours (9 steps) with.*(Ch) g in L*ABIND-colour space

Tristimulus values of black and whitéy=0,0, Y{4=88,6

CIELAB ligthness L*

white W

L*(Ch) o w=95, O, 0&100
* =
obtw=1, 1,1 \. 9 steps
N
9 steps L*(Ch) pg g=27, 85,287
rgh*g=0, 0, 1

black N blue B
L*(Ch)ag =0, 0,0
rgb*\=0, 0, 0 100

Tristimulus values of black and whité;=0,0, Y,y=88,6

CIELAB ligthness L*

white W
L*(Ch) o, w=95, 0, 0 L 100
rgb*w=1, 1, 1 -~ is'e\pf L¥(Ch) g =60, 130333
: ’ rgb*y=1,0,1
9 steps magenta M
black N
L*(Ch) ap,n=0, 0, 0 9 steps
rgb*y=0,0,0 @ s 100
0 L*ABJND-chromatic value Gg

Tristimulus values of black and whitéy=0,0, Y{4=88,6
Tristimulus values of black and whitéy,=2,5, Y\n=88,6, ¥ys=88,6.

CIELAB ligthness L*

white Wy,
L*(Ch) oB.wn=95, O, &100

9"wn=1, 1, 1 @ X9 steps
5}
L*(Ch) ag g=27, 85,287
9 steps L*(Ch) ap gn=33, 82,287
rgh*g,=0, 0, 1
black Ny blue B,
L*(Ch) ag nn=18, 0, O
rgb*y,=0, 0, 0 0 teps 100
0 L*ABJND-chromatic value Gyg

Tristimulus values of black and whité;=0,0, Y,y=88,6
Tristimulus values of black and whitéyn=2,5 Ywn=88,6, ¥ys=88,6.
CIELAB ligthness L*
white Wy,
L*(Ch) agwn=95. 0, 4100

* =
- )\ﬁsteps L*(Ch) pg,m=60, 130333
? -

L*(Ch) ag vn=61, 126333
rgb*yn=1,0, 1)

9 steps magenta M,
black Np
L*(Ch) ag,nn=18, 0, O
rgb*n=0.0,0 @ 100
0 L*ABJND-chromatic value Gg

AEI10-7N

AEI10-8N

TUB-test chart AEI1; Affine colour metric for six device hues
WCGadatargb*, XYZ, and L*(Chyg, reflectionYn=0 & Ynn=2,52,Y\w=88,6, adaptatioifyy5;=88,6.
C M Y [e] L Vv

AEI11-7N

input: rgb/cmy0 (No 1MR)

AEI11-8N

ndino jund 1o Ae|dsip Jo Juswainseaw pue uoleneAs 1o} uoneoldde

[euarew gn.L

V L o Y M C -8
http://farbe.li.tu-berlin.de/AEIT/AEILLONA.TXT /.PS; only vector graphic VG; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1
- T -
WCGadatargb*, XYZxy, and L*ABCh ag in L*ABIND-colour space | |WCGadatargb*, XYZxy, and L*ABCh ag in L*ABJND-colour space WCGadatargb*, XYZxy, and L*ABCh ag in L*ABIND-colour space | |WCGadatargb*, XYZxy, and L*ABCh ag in L*ABJND-colour space
Tristimulus values of black and whité=0,0, Y,,=88,6 Tristimulus values of black and whité;=0,0, Y,y=88,6 Tristimulus values of black and whitéi=2,5, Yn=88,6 Yis=88.6. Tristimulus values of black and whitéy,=2,5 Yiwn=88,6, ¥ya=88,6.
L*ABCh g data B L*ABCh g data B
CIEXYZ data L*ABCh 5 data rgby L Ay By GagaMasa CIEXYZ data L*ABCh 5 data rgby Ly Ay By GagaMasa =
e L - T I T Ged  Msd| |[Rg10055 90 23 93 14 4100 rgbt Xy Yo & oxg Ve [Ly Ged  Msd| |Rgy10057 87 22 90 14 4100 C
V411093 -2681 85 107 G V411093 -2578 82 107
ke [100 (56,43 23,27 000 0,708 0291 5534 90,24 2327 93,18 o 0108111657 130153 - ’9\ ke [100 (57,22 2512 2,74 0,708 0291 57,20 87,68 2261 90,38 o 01082 11386 126153 v )
Yo [110 (6024 8334 248 0446 0537 9316 -2623 8L06 85207 | |C: 01185 —92-2295 103 Q’ 1 Yo [110 (6066 8348 514 0446 0537 9322 -2548 7876 827 | |C: 01185 -90-2192 103 —
Gy 010 [1281 60,07 248 0169 0,797 8187 -1164857,79 130183 | |B 00127 26 -8185 287 \ ~ Gy [010|1484 60,88 514 0169 0,797 8231 -1131556,15 126133 | (B, 00133 25 -7882 287 D
Cy [011 (27,77 66,32 9648 0,145 0,348 8515 -92,75 -22,27 95393 | [My10160 116 -57 130333 A E‘ A Cy [011 (29,37 66,95 9648 0,145 0,348 8548 -90,11 -21,64 92,693 | [My10161 113 -56 126333 «Q
By |001|1496 525 94,00 0,130 0,045 27,43 26,22 -81,06 85287 | [N¢0000 0 0 0 0 + t By |001(1693 7,62 94,07 0,130 0,045 33,18 2548 -78,76 82,787 | [N¢000180 0 0 0 a
My |101 (71,39 28,52 94,00 0,368 0,147 6035 11646 -57,79 13@e3 | [Va111950 0 0 0 -150 - 50 50 00 Mg [101 71,75 30,22 94,07 0368 0,147 61,85 11315 -5615 126333 | [Wal11950 0 0 0 -150 =
Ng [000[001 001 001 0333 0333 009 000 000 0,000 C Loso Ng [000[240 252 274 0333 0333 1805 001 000 0,010 Q
W, [111 (84,21 88,60 9648 0312 0,329 9541 -001 000 00D A = 250 K / Xpgs = Y / Ypes]  [1b] ! W, [111 (84,21 88,60 9648 0312 0,329 9541 -001 000 00D A= 250 X/ Xogg =Y I Yogs]  [1b] =
N1, 0,00 [0,01 001 001 0333 0338 009 000 000 0,000 B = 100 IV / Ypgs - Z / Zogs]  [20] B N1,[000 [240 252 274 0333 0333 1805 001 000 0010 B =100 IY / Ypgs = Z / Zpgs]  [2b] o
W14(1,13 95,05 100,00108,900,312 0,339 100,00 0,00 0,00 0,00 Cpp = [A°+B°]%° [3b] 100 W14(1,13 94,74 99,67 108,540,312 0,329 99,87 -0,00 -0,00 0,00 Cpp = [A°+B°]%° [3b] =)
714 (0,18 17,11 18,00 19,60 0312 0,320 4949 000 000 0,00 has = atan [B/A] [4b] 714 (0,18 19,02 20,00 21,78 0312 0,320 5184 001 000 00D hag = atan [B/A] [4b] gE
AEI10-1N AEI10-2N AEI11-1N AEI11-2N
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